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ACCOUNTING EQUATION

Illustration

1. Prepare the Accounting Equation from the

following transactios : 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BZaVp1P2vj0V


1. Sachin started business and introduced

capital ₹70,000. 

2. Purchased goods in cash ₹50,000. 

3. Purcahsed funiture form M/s Samrat

Furniture ₹20,000. 

5. Paid M/s Samrat Furniture in cash.

View Text Solution

2. Prepare the Accounting Equation on the basis

of the followning: 

1. Started business with cash ₹70,000 

2. Credit pruchases of good ₹18,00. 

https://dl.doubtnut.com/l/_BZaVp1P2vj0V
https://dl.doubtnut.com/l/_58QFX9mjZ50e


3. Payment made to creaditors in full settlement

₹17,500. 

4. Purchase of machinery for cash ₹20,000.

View Text Solution

3. Prepare the Accounting Equation on the basis

of the followoing: 

View Text Solution

https://dl.doubtnut.com/l/_58QFX9mjZ50e
https://dl.doubtnut.com/l/_UpZ19KCuWvP4


4. Present the following transactions in the

Accounting Equation: 

View Text Solution

5. How are the following items dealt in

Accounting Equation ? 

(i) Interest due but not received ₹500. 

(ii) Rent received in a dvance ₹1,000 

(iii) Isurance premium paid in advance ₹1,500.

(iv) Salaries due to not paid ₹2,000.

https://dl.doubtnut.com/l/_EHv5lcN7pc5q
https://dl.doubtnut.com/l/_Htt8stuC7KcL


View Text Solution

6. Prepare Accounting Equation of the following

transacitions and alos the Balance sheet. 

View Text Solution

7. Anil had the following transactions: 

1. Commenced business with cash ₹50,000. 2.

Purchased goods for cash ₹20,000 and credit

₹30,000. 3. Sold goods for cash ₹40,000, costing

https://dl.doubtnut.com/l/_Htt8stuC7KcL
https://dl.doubtnut.com/l/_KavxVoPKXfUf
https://dl.doubtnut.com/l/_xGyly92RgHwY


₹30,000. 4. Rent paid ₹500, Salaries ₹5,000. 5.

Rent outetanding ₹100, Salaries Outstanding

₹1,000. 6. Bought furniture for ₹5,000 on credit.

7. Bought refrigerator for personal use ₹5,000.

8. Purchased computer for cash ₹20,000. 9. Cash

withdrawn for personal use ₹10,000. 10. Interest

on drawings charged ₹500 and the interest on

Capital ₹1000. Use Accounting Equation to show

the effected the above transactions on his

assets, liabilities and capital and also show his

Balance Sheet.

View Text Solution

https://dl.doubtnut.com/l/_xGyly92RgHwY


8. Give an example for each of the following

types of transactions: 

1. Increase in one asset, decrease in another

asset 

2 Inerease in asset, increase in liability. 

3.Inerease in asset, increase in owner's capital 

4 Decrease in asset, decrease in liability 

5. Decrease in asset, decrease in owner's capital. 

6 Decrease in liabilities, increase in owner's

capital. 

7 Increase in one liability, decrease in another

liability 

https://dl.doubtnut.com/l/_Yi5cpwq7wiwy


8. Increase in liabilities, decrease in owner's

capital

View Text Solution

9. If the capital of a business is ₹70,000 and

liabilietes are of ₹40,000 calculate the total

assets.

View Text Solution

https://dl.doubtnut.com/l/_Yi5cpwq7wiwy
https://dl.doubtnut.com/l/_7sGyG2lAi5KM


10. From the following information, calculate

the total assets of the business: 

Capital ₹4,00,000, Creditors ₹3,00,000, Revenue

earned during the period ₹7,50,000 

Expenses incurred during the period ₹2,00,000,

Value of unsold stock ₹2,00,000.

View Text Solution

11. A commenced his cloth business on 1st April ,

2018 with a capital of ₹30,000. On 31st March

2019, his assets were worth ₹50,000 and

https://dl.doubtnut.com/l/_qSeSsm2zSOtK
https://dl.doubtnut.com/l/_14GfEjZfXewC


liabilites of ₹10,000. find out his closing capital

and profits eraned during the year.

View Text Solution

12. X has following assets and liabilities as on

31st March, 2019. Determine his capital. Cash

₹25,000,Bank ₹ 47,500, Debtors ₹ 18,000,

Creditors ₹ 22,000, Pant and Machiney ₹ 80,000,

Buliding ₹2,00,000, Furniture ₹ 24,000, Bills

Receivable ₹ 56,500, Bills Payable ₹23,500.

View Text Solution

https://dl.doubtnut.com/l/_14GfEjZfXewC
https://dl.doubtnut.com/l/_tSDcy47ry5G9


13. Calculate total liability if: 

1. Owner's capital in the beginning is ₹60,000. 2,

Creditors at the is ₹50,000. 3. Revenue during

the period the period is ₹70,000. 4. Expenses

during the period are ₹65,000. 

Also calculate amount of owner's capital at the

end.

View Text Solution

14. X started a businesss on 1st April , 2018 with

a capital of ₹50,000 and a loan of ₹25,000 taken

https://dl.doubtnut.com/l/_gIrE1yq1WowD
https://dl.doubtnut.com/l/_81CfOvShrEby


from Y. During 2018-19, he had introduced

additional capital ₹25,000 and had withdrawn

15,000 for personal use. On 31st March , 2019 his

assets were ₹1,50,000. Find his capital as on 31st

March, 2019 and profit made or loss incurred

during the year 2018-19.

View Text Solution

15. On 31st March , 2019, the total assets and

external liabilities were ₹ 1,00,000 and ₹3,000

respectively .During the years ,the proprietor

hand introduced additional capital of ₹10,000

https://dl.doubtnut.com/l/_81CfOvShrEby
https://dl.doubtnut.com/l/_c8DTZU70r4ii


and had withdrawn ₹6,000 for pesonal use. He

made a profit of ₹10,000during the year.

Calculate the capital as on 1st April, 2018.

View Text Solution

16. Prepare the Accounting Equation from the

following transactios : 

1. Sachin started business and introduced

capital â‚¹70,000. 

2. Purchased goods in cash â‚¹50,000. 

3. Purcahsed funiture form M/s Samrat

https://dl.doubtnut.com/l/_c8DTZU70r4ii
https://dl.doubtnut.com/l/_8ml0kYY23LOw


Furniture â‚¹20,000. 

5. Paid M/s Samrat Furniture in cash.

View Text Solution

17. Prepare the Accounting Equation on the

basis of the followning: 

1. Started business with cash â‚¹70,000 

2. Credit pruchases of good â‚¹18,00. 

3. Payment made to creaditors in full settlement

â‚¹17,500. 

4. Purchase of machinery for cash â‚¹20,000.

View Text Solution

https://dl.doubtnut.com/l/_8ml0kYY23LOw
https://dl.doubtnut.com/l/_TxxIDa8Mqesp


18. Prepare the Accounting Equation on the

basis of the followoing: 

View Text Solution

19. Present the following transactions in the

Accounting Equation: 

i l i

https://dl.doubtnut.com/l/_TxxIDa8Mqesp
https://dl.doubtnut.com/l/_8wiNQ9n6XY6Z
https://dl.doubtnut.com/l/_9sJo2E3BZvip


View Text Solution

20. How are the following items dealt in

Accounting Equation ? 

(i) Interest due but not received â‚¹500. 

(ii) Rent received in a dvance â‚¹1,000 

(iii) Isurance premium paid in advance â‚¹1,500.

(iv) Salaries due to not paid â‚¹2,000.

View Text Solution

https://dl.doubtnut.com/l/_9sJo2E3BZvip
https://dl.doubtnut.com/l/_8yWeCXgEtk6o


21. Prepare Accounting Equation of the

following transacitions and alos the Balance

sheet. 

View Text Solution

22. Anil had the following transactions: 

1. Commenced business with cash â‚¹50,000. 2.

Purchased goods for cash â‚¹20,000 and credit

https://dl.doubtnut.com/l/_S1AULxNSrRWX
https://dl.doubtnut.com/l/_ovtxKNnN9eOn


â‚¹30,000. 3. Sold goods for cash â‚¹40,000,

costing â‚¹30,000. 4. Rent paid â‚¹500, Salaries

â‚¹5,000. 5. Rent outetanding â‚¹100, Salaries

Outstanding â‚¹1,000. 6. Bought furniture for

â‚¹5,000 on credit. 7. Bought refrigerator for

personal use â‚¹5,000. 8. Purchased computer for

cash â‚¹20,000. 9. Cash withdrawn for personal

use â‚¹10,000. 10. Interest on drawings charged

â‚¹500 and the interest on Capital â‚¹1000. Use

Accounting Equation to show the effected the

above transactions on his assets, liabilities and

capital and also show his Balance Sheet.

View Text Solution

https://dl.doubtnut.com/l/_ovtxKNnN9eOn


23. Give an example for each of the following

types of transactions: 

1. Increase in one asset, decrease in another

asset 

2 Inerease in asset, increase in liability. 

3.Inerease in asset, increase in owner's capital 

4 Decrease in asset, decrease in liability 

5. Decrease in asset, decrease in owner's capital. 

6 Decrease in liabilities, increase in owner's

capital. 

7 Increase in one liability, decrease in another

https://dl.doubtnut.com/l/_ovtxKNnN9eOn
https://dl.doubtnut.com/l/_SI4JuRUDFa8F


liability 

8. Increase in liabilities, decrease in owner's

capital

View Text Solution

24. If the capital of a business is â‚¹70,000 and

liabilietes are of â‚¹40,000 calculate the total

assets.

View Text Solution

https://dl.doubtnut.com/l/_SI4JuRUDFa8F
https://dl.doubtnut.com/l/_fIdH7GUgrTwc


25. From the following information, calculate

the total assets of the business: 

Capital â‚¹4,00,000, Creditors â‚¹3,00,000,

Revenue earned during the period â‚¹7,50,000 

Expenses incurred during the period â‚¹2,00,000,

Value of unsold stock â‚¹2,00,000.

View Text Solution

26. A commenced his cloth business on 1st April

, 2018 with a capital of â‚¹30,000. On 31st March

2019, his assets were worth â‚¹50,000 and

https://dl.doubtnut.com/l/_7MAIkSI4J39w
https://dl.doubtnut.com/l/_eoWL7BrZl7zs


liabilites of â‚¹10,000. find out his closing capital

and profits eraned during the year.

View Text Solution

27. X has following assets and liabilities as on

31st March, 2019. Determine his capital. Cash

â‚¹25,000,Bank â‚¹ 47,500, Debtors â‚¹ 18,000,

Creditors â‚¹ 22,000, Pant and Machiney â‚¹

80,000, Buliding â‚¹2,00,000, Furniture â‚¹ 24,000,

Bills Receivable â‚¹ 56,500, Bills Payable â‚¹23,500.

View Text Solution

https://dl.doubtnut.com/l/_eoWL7BrZl7zs
https://dl.doubtnut.com/l/_4iVf1yEccKha


28. Calculate total liability if: 

1. Owner's capital in the beginning is â‚¹60,000.

2, Creditors at the is â‚¹50,000. 3. Revenue

during the period the period is â‚¹70,000. 4.

Expenses during the period are â‚¹65,000. 

Also calculate amount of owner's capital at the

end.

View Text Solution

29. X started a businesss on 1st April , 2018 with

a capital of â‚¹50,000 and a loan of â‚¹25,000

https://dl.doubtnut.com/l/_iwWZHTgOIlRr
https://dl.doubtnut.com/l/_YF1FnZkOfhy3


taken from Y. During 2018-19, he had introduced

additional capital â‚¹25,000 and had withdrawn

15,000 for personal use. On 31st March , 2019 his

assets were â‚¹1,50,000. Find his capital as on

31st March, 2019 and profit made or loss

incurred during the year 2018-19.

View Text Solution

30. On 31st March , 2019, the total assets and

external liabilities were â‚¹ 1,00,000 and â‚¹3,000

respectively .During the years ,the proprietor

hand introduced additional capital of â‚¹10,000

https://dl.doubtnut.com/l/_YF1FnZkOfhy3
https://dl.doubtnut.com/l/_H71FnGyOGju7


Hots Questions

and had withdrawn â‚¹6,000 for pesonal use. He

made a profit of â‚¹10,000during the year.

Calculate the capital as on 1st April, 2018.

View Text Solution

1. Do you think that a transcation can break the

Acounting Equation?

View Text Solution

https://dl.doubtnut.com/l/_H71FnGyOGju7
https://dl.doubtnut.com/l/_fUZLPRHnvtdE
https://dl.doubtnut.com/l/_MMzi3bmv9q7f


2. Goods costing ₹10,000 have been sold for

cash at 25% profit . How will the transaciton be

shown in the Accounting Equation?

View Text Solution

3. The Capital of a business is ₹2,00,000 and

outside liabilities are ₹1,50,000. Calculate the

total assets of a business.

View Text Solution

https://dl.doubtnut.com/l/_MMzi3bmv9q7f
https://dl.doubtnut.com/l/_5ANoYd4VOZZa


4. If the total assets of a business are ₹1,30,000

and capital is ₹80,000, calculate the outside

liabilities.

View Text Solution

5. If the total assets of the business are

₹4,50,000 and outside liabilities are ₹2,00,000

calculate owner's equity.

View Text Solution

https://dl.doubtnut.com/l/_F3SoYPBx4Gzn
https://dl.doubtnut.com/l/_HHn69D30MjZa
https://dl.doubtnut.com/l/_9o4Fp1s5NnJA


6. Japal has purchased a car for ₹5,00,000 which

he get financed form a Bank to the extent of

₹4,00,000.How will it be shown in the accouding

equation?

View Text Solution

7. Amit has incurred an expense of ₹5,000

towards repairs. However, the amount is yet to

be paid. How will it be shown in the accountaing

equition ?

View Text Solution

https://dl.doubtnut.com/l/_9o4Fp1s5NnJA
https://dl.doubtnut.com/l/_ygFYSGsLFxmC


8. Do you think that a transcation can break the

Acounting Equation?

View Text Solution

9. Goods costing â‚¹10,000 have been sold for

cash at 25% profit . How will the transaciton be

shown in the Accounting Equation?

View Text Solution

https://dl.doubtnut.com/l/_DHbxBAJH4GtD
https://dl.doubtnut.com/l/_pOjBFj26c5eu


10. The Capital of a business is â‚¹2,00,000 and

outside liabilities are â‚¹1,50,000. Calculate the

total assets of a business.

View Text Solution

11. If the total assets of a business are

â‚¹1,30,000 and capital is â‚¹80,000, calculate the

outside liabilities.

View Text Solution

https://dl.doubtnut.com/l/_o6p6tgtBM9aG
https://dl.doubtnut.com/l/_zOO67obJS0X3
https://dl.doubtnut.com/l/_3X8N5CgV0oQt


12. If the total assets of the business are

â‚¹4,50,000 and outside liabilities are â‚¹2,00,000

calculate owner's equity.

View Text Solution

13. Japal has purchased a car for â‚¹5,00,000

which he get financed form a Bank to the extent

of â‚¹4,00,000.How will it be shown in the

accouding equation?

View Text Solution

https://dl.doubtnut.com/l/_3X8N5CgV0oQt
https://dl.doubtnut.com/l/_VLSpxIZjAMHp
https://dl.doubtnut.com/l/_9mJ8pSlhSxmz


Muitiple Choice Questions

14. Amit has incurred an expense of â‚¹5,000

towards repairs. However, the amount is yet to

be paid. How will it be shown in the accountaing

equition ?

View Text Solution

1. Which of the following equations is correct ?

A. Assests + Capital = Liabilities

https://dl.doubtnut.com/l/_9mJ8pSlhSxmz
https://dl.doubtnut.com/l/_SzqRPm4n3MHr


B. Assets- Liabilities = Capital

C. Assets + Liabilities = Capital

D. None of these.

Answer: B

View Text Solution

2. Which of the following is correct ?

A. 

Assets Liabilities Capital

(a) ₹ 785000 ₹ 125000 ₹ 660000

https://dl.doubtnut.com/l/_SzqRPm4n3MHr
https://dl.doubtnut.com/l/_usNVbszZncAP


B. 

C. 

D. 

Answer: A

View Text Solution

Assets Liabilities Capital

(b) ₹ 820000 ₹ 280000 ₹ 1100000

Assets Liabilities Capital

(c) ₹ 955000 ₹ 115000 ₹ 820000

Assets Liabilities Capital

(d) ₹ 542000 ₹ 654000 ₹ 112000

https://dl.doubtnut.com/l/_usNVbszZncAP


3. Amount withdrawn by proprietor for personal

use will ... Cash and Capital.

A. Increase.

B. Decrease.

C. Not Change.

D. None of these.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_OI4cjqDi90pH


4. Which accounting equation is incorrect cut of

the following?

A. Liabilities = Assets-Capital.

B. Assets = Liabilities - Capital.

C. Capital = Assete - Liabilities.

D. Assets = Liabilities + Capital.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_6ia7z9SBnOvi


5. The liabilities of a firm are 3,000, the capital of

the proprietor is 7,000. The total assets are :

A. ₹7,000.

B. ₹10,000

C. ₹4,000

D. None of these.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_ivIgrNn2R8zp


6. `X' commenced business on 1st April, 2013

with a capital of 6,00,000. On 31st March, 2014

his assets were worth 8,00,000 and liabilities

50,000. Find out his closing capital.

A. ₹7,50,000.

B. ₹ 5,50,000.

C. ₹2,00,000.

D. None of these.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_tRvyk5rGCKc6


7. An increase in one asset is accompanied by

A. Decrease in another asset.

B. increase in a liability.

C. Increase in capital.

D. All of these.

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_tRvyk5rGCKc6
https://dl.doubtnut.com/l/_aGvvVBn4EQjt


8. Decrease in one liability may lead to

A. Decrease in an asset.

B. Increase in another liability.

C. Either (a) or (b).

D. None of these.

Answer: C

View Text Solution

9. Purchase of machina by cash means

https://dl.doubtnut.com/l/_pXEFkP7xYOLN
https://dl.doubtnut.com/l/_dRReNodLuoJ2


A. Decrease in asset and decrease in liability.

B. Increase in asset and decrease in asset.

C. Increase in asset and decrease in liability.

D. Decrease in asset and increase in capital.

Answer: B

View Text Solution

10. Payment to a creditor means

A. Incrcase in asset and decrease in liability.

https://dl.doubtnut.com/l/_dRReNodLuoJ2
https://dl.doubtnut.com/l/_tqh5tsSSLMdh


B. Decrease in asset and decrease in liability.

C. Decrease in asset and increase in lhability.

D. Increase in asset and increase in liability

Answer: B

View Text Solution

11. Purchase of furniture on credit means

A. Decrease in asset and increase in liability.

B. Increase in asset and increase in liability.

https://dl.doubtnut.com/l/_tqh5tsSSLMdh
https://dl.doubtnut.com/l/_tzqPHWR7z4R9


C. Increase in asset and decrease in liability

D. Decrease in asset and decrease in liability.

Answer: B

View Text Solution

12. Which of the following equations is correct ?

A. Assests + Capital = Liabilities

B. Assets- Liabilities = Capital

C. Assets + Liabilities = Capital

https://dl.doubtnut.com/l/_tzqPHWR7z4R9
https://dl.doubtnut.com/l/_Hhqeucy54tsJ


D. None of these.

Answer: B

View Text Solution

13. Which of the following is correct ?

A. 

B. 

Assets Liabilities Capital

(a) â‚¹ 785000 â‚¹ 125000 â‚¹ 660000

Assets Liabilities Capital

(b) â‚¹ 820000 â‚¹ 280000 â‚¹ 1100000

https://dl.doubtnut.com/l/_Hhqeucy54tsJ
https://dl.doubtnut.com/l/_qP2z3pSB1VII


C. 

D. 

Answer: A

View Text Solution

Assets Liabilities Capital

(c) â‚¹ 955000 â‚¹ 115000 â‚¹ 820000

Assets Liabilities Capital

(d) â‚¹ 542000 â‚¹ 654000 â‚¹ 112000

14. Amount withdrawn by proprietor for

personal use will ... Cash and Capital.

https://dl.doubtnut.com/l/_qP2z3pSB1VII
https://dl.doubtnut.com/l/_bftM7iWgCBP7


A. Increase.

B. Decrease.

C. Not Change.

D. None of these.

Answer: B

View Text Solution

15. Which accounting equation is incorrect cut

of the following?

https://dl.doubtnut.com/l/_bftM7iWgCBP7
https://dl.doubtnut.com/l/_oQL3JJZp7y7S


A. Liabilities = Assets-Capital.

B. Assete Liabilitics - Capital.

C. Capital = Assete - Liabilities.

D. Assets Liabilities + Capital.

Answer: B

View Text Solution

16. The liabilities of a firm are 3,000, the capital

of the proprietor is 7,000. The total assets are :

https://dl.doubtnut.com/l/_oQL3JJZp7y7S
https://dl.doubtnut.com/l/_E4f7TsyzmO1T


A. â‚¹7,000.

B. â‚¹10,000

C. â‚¹4,000

D. None of these.

Answer: B

View Text Solution

17. `X' commenced business on 1st April, 2013

with a capital of 6,00,000. On 31st March, 2014

https://dl.doubtnut.com/l/_E4f7TsyzmO1T
https://dl.doubtnut.com/l/_CSyVW7reuBWO


his assets were worth 8,00,000 and liabilities

50,000. Find out his closing capital.

A. â‚¹7,50,000.

B. â‚¹ 5,50,000.

C. â‚¹2,00,000.

D. None of these.

Answer: A

View Text Solution

18. An increase in one asset is accompanied by

https://dl.doubtnut.com/l/_CSyVW7reuBWO
https://dl.doubtnut.com/l/_wHuKQXU0GwAr


A. Decrease in another asset.

B. increase in a liability.

C. Increase in capital.

D. All of these.

Answer: D

View Text Solution

19. Decrease in one liability may lead to

A. Decrease in an asset.

https://dl.doubtnut.com/l/_wHuKQXU0GwAr
https://dl.doubtnut.com/l/_ffg15807bVzj


B. Increase in another liability.

C. Either (c) or (b).

D. None of these.

Answer: C

View Text Solution

20. Purchase of machina by cash means

A. Decrease in asset and decrease in liability.

B. Increase in asset and decrease in asset.

https://dl.doubtnut.com/l/_ffg15807bVzj
https://dl.doubtnut.com/l/_OM7GbUFlB5a8


C. Increase in asset and decrease in liability.

D. Decrease in asset and increase in capital.

Answer: B

View Text Solution

21. Payment to a creditor means

A. Incrcase in asset and decrease in liability.

B. Decrease in asset and decrease in liability.

C. Decrease in asset and increase in lhability.

https://dl.doubtnut.com/l/_OM7GbUFlB5a8
https://dl.doubtnut.com/l/_yfYjvP8preiT


D. Increase in asset and increase in liability

Answer: B

View Text Solution

22. Purchase of furniture on credit means

A. Decrease in asset and increase in liability.

B. Increase in asset and increase in liability.

C. Increase in asset and decrease in liability

D. Decrease in asset and decrease in liability.

https://dl.doubtnut.com/l/_yfYjvP8preiT
https://dl.doubtnut.com/l/_8hmlP9n81rAa


Very Short Answer Type Questions

Answer: B

View Text Solution

1. Briefly explain the Accounting Equation.

View Text Solution

2. What is meant by ower's capital ?

View Text Solution

https://dl.doubtnut.com/l/_8hmlP9n81rAa
https://dl.doubtnut.com/l/_J6F1uABCLUkz
https://dl.doubtnut.com/l/_i6rXp3bCEa2a


3. Give an example of decrease in an asset and

decrease in a liability.

View Text Solution

4.   Give an example of a transacticn where an

asset will increase and also the hability.

View Text Solution

https://dl.doubtnut.com/l/_i6rXp3bCEa2a
https://dl.doubtnut.com/l/_FnyaxrXwPchj
https://dl.doubtnut.com/l/_zBVVCQKMghFI


5. Give an example of a transacticn where an

asset and owner's capital will increase

View Text Solution

6. Give an example ofa transaction due to which

owner's capital and an asset will decrease

View Text Solution

https://dl.doubtnut.com/l/_ULxpBsfOhPJw
https://dl.doubtnut.com/l/_GAzjJAPWmrMX


7. Which transaction decreases one asset and

increaaca another asset?

View Text Solution

8. Give an example of a transaction which

increases one liability and decreases another.

View Text Solution

https://dl.doubtnut.com/l/_FhNTuyTkqNsi
https://dl.doubtnut.com/l/_XWggOYPIZKm1


9. Give an example of a transaction which has

offect on two items on the assets side.

View Text Solution

10. Indicate how Accounting Equation is affected

if machinery is purchased for cash?

View Text Solution

https://dl.doubtnut.com/l/_m8wmUgWs4bzo
https://dl.doubtnut.com/l/_eWEbiOQZsB0f


11. Indicate how Accounting Equation is affected

if cash is roceived against services rendered?

View Text Solution

12. Indicate how Accounting Equation is affected

if payment is made to a crediter?

View Text Solution

13. Briefly explain the Accounting Equation.

Vi T S l i

https://dl.doubtnut.com/l/_mPDqM7Wa1P9Q
https://dl.doubtnut.com/l/_6AdYmnH1cTUc
https://dl.doubtnut.com/l/_BKFeiTAqKsTP


View Text Solution

14. What is meant by ower's capital ?

View Text Solution

15. Give an example of decrease in an asset and

decrease in a liability.

View Text Solution

https://dl.doubtnut.com/l/_BKFeiTAqKsTP
https://dl.doubtnut.com/l/_1qhAsfhb8h9b
https://dl.doubtnut.com/l/_funAaYLuDeNv


16. Â Give an example of a transacticn where an

asset will increase and also the hability.

View Text Solution

17. Give an example of a transacticn where an

asset and owner's capital will increase

View Text Solution

https://dl.doubtnut.com/l/_URwEfrS63gJm
https://dl.doubtnut.com/l/_NPbisEl4sT9D


18. Give an example ofa transaction due to

which owner's capital and an asset will decrease

View Text Solution

19. Which transaction decreases one asset and

increaaca another asset?

View Text Solution

https://dl.doubtnut.com/l/_sM0Ngeu93TFj
https://dl.doubtnut.com/l/_l9sZKJBQjbTg


20. Give an example of a transaction which

increases one liability and decreases another.

View Text Solution

21. Give an example of a transaction which has

offect on two items on the assets side.

View Text Solution

https://dl.doubtnut.com/l/_EGfqMePsP250
https://dl.doubtnut.com/l/_bjgoy8hvZXtV


22. Indicate how Accounting Equation is

affected if machinery is purchased for cash?

View Text Solution

23. Indicate how Accounting Equation is

affected if cash is roceived against services

rendered?

View Text Solution

https://dl.doubtnut.com/l/_vmmLfjNEk8wM
https://dl.doubtnut.com/l/_mjGIKOUHzmxD


Short Answer Type Questions

24. Indicate how Accounting Equation is

affected if payment is made to a crediter?

View Text Solution

1. From the following information find the

capital of Vijay: Total, Asseta ₹5,00,000,

Creditors ₹1,00,000, Loan from Bank ₹1,50, 000.

View Text Solution

https://dl.doubtnut.com/l/_xx4ubq1CuPye
https://dl.doubtnut.com/l/_zSJ8qpeGOJ02


2. If the Capital is ₹2,60,000 and Assets are ₹

5,00,000, what is amount of Liabilites ?

View Text Solution

3. If the Capital is ₹1,00,000 and Outside

Liabilities are ₹2,50,000, find the Total Assets.

View Text Solution

https://dl.doubtnut.com/l/_PI2QrEdIucC1
https://dl.doubtnut.com/l/_VSR0hJM4HB3h


4. Ram started business on 1st April, 2018 with a

capital of ₹2,50,000 and a loan of ₹12,500. On

31st March , 2019 his assest wrer ₹50,000 . Find

his capital as on 31 st March, 2019 and the profit

earned during the year.

View Text Solution

5. Calculate total assets if : 

Captial is ₹2,00,000, Creditors ₹50,000, Revnue

during the years ₹5,00,000, and Expenses

during the years ₹4,00,000.

https://dl.doubtnut.com/l/_ci46ZjqhlgVL
https://dl.doubtnut.com/l/_NPjdrkEmc0rj


View Text Solution

6. A starts a business and invests ₹50,000 on 1st

April, 2018, his assets are ₹65,000 and liabilities

are ₹6,000. Find out the amcunt of capital on

31st March , 2019 and his profit.

View Text Solution

7. Determine the missing amounts on the basis

of the Accounitng Equation: 

https://dl.doubtnut.com/l/_NPjdrkEmc0rj
https://dl.doubtnut.com/l/_SBjYs5onA9PN
https://dl.doubtnut.com/l/_QlzTBG8tt5if


View Text Solution

8. The assets of a business on 31st March, 2019

are ₹50,000 and its captial is ₹35,000. Calculate

its liabilities on that date.

View Text Solution

9. From the following information find the

capital of Vijay: Total, Asseta â‚¹5,00,000,

Creditors â‚¹1,00,000, Loan from Bank â‚¹1,50,

000.

https://dl.doubtnut.com/l/_QlzTBG8tt5if
https://dl.doubtnut.com/l/_OvXxXcEh65Hk
https://dl.doubtnut.com/l/_CeASllbfzAVR


View Text Solution

10. If the Capital is â‚¹2,60,000 and Assets are â‚¹

5,00,000, what is amount of Liabilites ?

View Text Solution

11. If the Capital is â‚¹1,00,000 and Outside

Liabilities are â‚¹2,50,000, find the Total Assets.

View Text Solution

https://dl.doubtnut.com/l/_CeASllbfzAVR
https://dl.doubtnut.com/l/_qYSuVbpd0Y5T
https://dl.doubtnut.com/l/_npDYqsJzHzrX
https://dl.doubtnut.com/l/_hEjVcCGEhQgk


12. Ram started business on 1st April, 2018 with

a capital of â‚¹2,50,000 and a loan of â‚¹12,500.

On 31st March , 2019 his assest wrer â‚¹50,000 .

Find his capital as on 31 st March, 2019 and the

profit earned during the year.

View Text Solution

13. Calculate total assets if : 

Captial is â‚¹2,00,000, Creditors â‚¹50,000,

Revnue during the years â‚¹5,00,000, and

Expenses during the years â‚¹4,00,000.

Vi T S l i

https://dl.doubtnut.com/l/_hEjVcCGEhQgk
https://dl.doubtnut.com/l/_sAQsexlpOSGg


View Text Solution

14. A starts a business and invests â‚¹50,000 on

1st April, 2018, his assets are â‚¹65,000 and

liabilities are â‚¹6,000. Find out the amcunt of

capital on 31st March , 2019 and his profit.

View Text Solution

15. Determine the missing amounts on the basis

of the Accounitng Equation: 

https://dl.doubtnut.com/l/_sAQsexlpOSGg
https://dl.doubtnut.com/l/_EekGEJSdyxIc
https://dl.doubtnut.com/l/_lvelPDWIVDI2


Practical Problems

View Text Solution

16. The assets of a business on 31st March, 2019

are â‚¹50,000 and its captial is â‚¹35,000.

Calculate its liabilities on that date.

View Text Solution

https://dl.doubtnut.com/l/_lvelPDWIVDI2
https://dl.doubtnut.com/l/_xQ5PO1VkvuuZ
https://dl.doubtnut.com/l/_GiKPvwqX7arn


1. What will be effect of the following on the

Accounting Equation ? 

Started business with cash ₹45,000 (ii) Opened

a Bank form M/s. Sum & Co, for ₹11,200.

View Text Solution

2. Show the Accounting Equation for the

following transactions: 

View Text Solution

https://dl.doubtnut.com/l/_GiKPvwqX7arn
https://dl.doubtnut.com/l/_P4aGpxAK8URn


3. Show the effect of the following transactions

on the Accounting Equation: 

(i) Statred business with cash ₹50,000. 

(ii) Salaries paid ₹2,000. 

(iii)Wages outstanding ₹200. 

(iv) Interest due but not paid ₹100. 

(v) Rent paid in advance ₹150.

View Text Solution

4. What will be the effect of the following on the

Accounting Equation ? 

https://dl.doubtnut.com/l/_6VGyYnKbtBsV
https://dl.doubtnut.com/l/_JLxfXuVNxidB


(i) Harish started business with cash ₹ 18,000 

(ii) Purchased goods for cash ₹ 5, 000 and on

credit ₹ 2,000 

(iii) Sold goods for cash ₹ 4,000 (costing ₹

2,400) 

(iv) Rent paid ₹ 1,000 and rent outstanding ₹

200

View Text Solution

5. Perpare Accounting Equation from the

following : 

(i) Started business with cash ₹1,00,000 and

https://dl.doubtnut.com/l/_JLxfXuVNxidB
https://dl.doubtnut.com/l/_LK5pHnXh1JlI


Goods ₹20,000. 

(ii) Sold goods worht ₹10,000 for cash ₹12,000 

(iii) Purchased furniture on credit for ₹ 30,000.

View Text Solution

6. Prepare an According Equation and Blance

sheet of the following basise: 

(i) Ajeet started business with cash ₹20,000. 

(ii) He Purchased furniture for ₹2,000. 

(iii) He pid rent of ₹ 200. 

(iv) He purchased goods on credit ₹3,000. 

https://dl.doubtnut.com/l/_LK5pHnXh1JlI
https://dl.doubtnut.com/l/_vpJX4ici3emD


(v) He sold goods (cost price ₹2,000) for ₹5,000

on cah.

View Text Solution

7. Prepare an Accounting Equation from the

following: 

Started business with cash ₹1,00,000. 

(ii) Purchased goods for cash 20,000 and on

credit ? ₹30,000. 

(iii) Sold goods for cash costing 10,000 and on

credit costingt ₹15,000 both at a of 20%.

View Text Solution

https://dl.doubtnut.com/l/_vpJX4ici3emD
https://dl.doubtnut.com/l/_j5SLQcrwlo4E


View Text Solution

8. Develop an Accounting Equation from the

following transactions : 

View Text Solution

9. Perpare an Accounting Equation on the

following transactions : 

(i) Started business with cash ₹ 70,000. 

(ii) Credit purchase of goods ₹ 18,000. 

https://dl.doubtnut.com/l/_j5SLQcrwlo4E
https://dl.doubtnut.com/l/_c7gfmgIFLTTd
https://dl.doubtnut.com/l/_JRJ2YzQnNNAs


(iii) Payment made to crediors in full settlement

₹17,500. 

(iv) Purchase of machinery for cash ₹ 20,000. 

(v) Depreciation on machinery ₹ 2,000.

View Text Solution

10. Prove that the Accounting Equation is

satisfied in all the following transactions of

Suresh. 

Also prepare a Balance sheet. 

(i) Commenced business with cash ₹60,000. 

(ii) Paid rent in advance ₹500. 

https://dl.doubtnut.com/l/_JRJ2YzQnNNAs
https://dl.doubtnut.com/l/_6CiqtvvsrlVQ


(iii) Pruchased goods for cash ₹20,000. 

(iv) Sold goods for cash ₹30,000 costing

₹20,000. 

(v) Paid salary ₹500 and salary outstanding

being ₹100. 

(vi) Bought motorcycle for personal use ₹5,000.

View Text Solution

11. Show the effect of the following transactions

and also prepare a Blacance Sheet : 

(i) Started business with ₹60,000. 

(ii) Rent recevied ₹2,000. 

https://dl.doubtnut.com/l/_6CiqtvvsrlVQ
https://dl.doubtnut.com/l/_WqO6oNY4kssu


(iii) Accrued interest ₹500. 

(iv) Commission received in advance ₹ 1,000. 

(v) Amount withdrawn ₹5,000.

View Text Solution

12. Prove that the Accounting Equation is

satified in all the following transactions of

Sameer Goel : 

(i) Started business with cash ₹1,000. 

(ii) Paid rent in advance ₹300. 

(iii) Purchased goods for cash ₹5,000 and credit

₹2000. 

https://dl.doubtnut.com/l/_WqO6oNY4kssu
https://dl.doubtnut.com/l/_Ryh7sfQ1VEJb


(iv) Sold goods for cash ₹8,000 costing ₹4000. 

(v) Paid salary ₹450 and salary outstanding

being ₹ 100. 

(vi) Bought motorcycle for personal use ₹3000.

View Text Solution

13. Raghunath had the following taransacitons

in an accounting year : 

(i) Commenced business with cash ₹ 50,000. 

(ii) Paid into bank ₹10,000. 

(iii) Purcahsed goods for cash ₹20,000 and

credit ₹30,000. 

https://dl.doubtnut.com/l/_Ryh7sfQ1VEJb
https://dl.doubtnut.com/l/_TM1hYtRH0cbD


(iv) Sold goods for cash ₹40,000 costing

₹30,000. 

(v) Rent paid ₹500. 

(vi) Rent outstanding ₹100. 

(vii) Bought furniture ₹5,000 on credit. 

(viii) Bought refrigerator for personal use

₹5,000. 

(ix) Purchased motorcycle for cash ₹20,000. 

Create an Accounting Equation to show the

effect of the above and also shown his Balcnce

Sheet.

View Text Solution

https://dl.doubtnut.com/l/_TM1hYtRH0cbD


14. Prepare an Accounting Equation from the

following : 

(i) Started business with cash ₹50,000 and

goods ₹30,000. 

(ii)Purchased good cash ₹30,000 and on credit

from Karan ₹20,000. 

(iii) Goods costing ₹40,000 were sold for

₹55,000. ltBRgt (IV) Withdrew cash for presonal

use ₹10,000 

(v) Rent outstading ₹2,000.

View Text Solution

https://dl.doubtnut.com/l/_vIY62DqVx8hw
https://dl.doubtnut.com/l/_cRgLel3dT5Sh


15. Show an Accounting Equation for the

following transactions: 

D. Mahaptra commeced business with cash

₹50,000 and ₹1,00,000 by cheque, goods ₹

60,000, machinery ₹ 1,00,000 and furniture ₹

50,000. 

(ii) 1/3 rd of the above goods sold at a profit of

10% on cost and half of the payment is received

in cash. 

(iii) Depreciation on machinery provided @ 10%.

(iv) Cash withdrawan for personal use ₹ 10,000. 

(v) Interest on drawings charged @ 5%. 

https://dl.doubtnut.com/l/_cRgLel3dT5Sh


(vi) Goods sold to Gupta for ₹ 10,000 and

received a Bill Receivable for the same amount

for 3 months. 

(vii) Received ₹ 10,000 from Gupta against the

Bills Receivable on its maturity.

View Text Solution

16. Prepare Accounting Equation from the

following " 

(a) Started business with cash ₹1,00,000. ltbgt

rgt (b) Purchased goods for cash ₹20,000 and

on credit ₹30,000. 

https://dl.doubtnut.com/l/_cRgLel3dT5Sh
https://dl.doubtnut.com/l/_SqOUpWleHkJb


(c) Sold goods for cash ₹10,000 and on credit

costing ₹15,000 both at the profit of 20%. 

(d) Paid salaries ₹8,000.

View Text Solution

17. Shown the accounting equation on the

followimg transacitions : 

(a) Ram started business with ₹25,000. 

(b) Purchases goods from Shyam ₹10,000. 

(c) Sold goods to Sohan costing ₹1,500 for

₹1,800.

View Text Solution

https://dl.doubtnut.com/l/_SqOUpWleHkJb
https://dl.doubtnut.com/l/_00RsPTLl26Ji


View Text Solution

18. If the capital of a business is ₹3,00,000 and

liabilites are ₹50,000 loss ₹70,000 calculate the

total assets of the business.

View Text Solution

19. If the total assets of a business are ₹1,30,000

and net worth is ₹80,000, calculate the

creditors. 

[Hint : New Worth = Assests - Liabilities.]

Vi T S l i

https://dl.doubtnut.com/l/_00RsPTLl26Ji
https://dl.doubtnut.com/l/_UQhqZAcjGQFM
https://dl.doubtnut.com/l/_vk65hOyQL2ua


View Text Solution

20. A commenced his cloth business on 1st April

, 2018 with a capital of ₹30,000. On 31st March

2019, his assets were worth ₹50,000 and

liabilites of ₹10,000. find out his closing capital

and profits eraned during the year.

View Text Solution

21. If capital of a business is ₹1,40,000 and

liabilities are of ₹80,000, calcluate the total

https://dl.doubtnut.com/l/_vk65hOyQL2ua
https://dl.doubtnut.com/l/_0vbr8YagE4q4
https://dl.doubtnut.com/l/_Om9hCrfWVdny


assets of the business.

View Text Solution

22. Calculate the total assets if : 

(i) Capital is ₹400. 

(ii) Creditors are ₹25,000. 

(iii) Revenue during the period ₹50,000. ltbr. (iv)

Expenses during the period are ₹40,000.

View Text Solution

https://dl.doubtnut.com/l/_Om9hCrfWVdny
https://dl.doubtnut.com/l/_IGUUKsWQntB9


23. (a) A had a capital of ₹ 75,000 on 1st April ,

2018. He had also goods amounting to ₹ 15,000

which he had purchased on credit and the

payment had not been made. Find out the value

to the total assets of the business. 

(b) After a period of one month, he came to

know that the he had suffered a loss ₹ 1,700. He

withdrew ₹ 800 for his personal use . Find out

this capital and assets of the business.

View Text Solution

https://dl.doubtnut.com/l/_arTXkrjfDbDF


24. (a) Mohan started a business on 1st Aprili

2018 with a capital of ₹10,000 and borrowed ₹

3,000 from a friend. He earned a profit of ₹5,000

during the year ended 31st March, 2019 and

withdrew cash ₹4,000 for personal use. What is

his capital on 31st March, 2019? 

Mahesh started a'business with a capital of

₹15,000 on 1st April, 2018. During the year, he

made a profit of ₹3,000. He owes ₹2,500 to

suppliers of goods. What is the total of assets in

his business on 31st March, 2019

View Text Solution

https://dl.doubtnut.com/l/_wKDFjrJHjPPu


25. Mohan started a business on 1st April, 2018

with a capital of ₹25,000 and a loan of ₹12,500

borrowed from Shyam. During 2018-19 he had

introduced additional capital of ₹12,500 and had

withdrawn ₹7,500 for personal use. On 31st

March, 2019 his assets were ₹75,000. Find out

his capital as on 31st March, 2019 and'profit

made or loss incurred dring the year 2018-19.

View Text Solution

https://dl.doubtnut.com/l/_wKDFjrJHjPPu
https://dl.doubtnut.com/l/_sDvuNmenxYzL


26. On 31st March, 2019, the total assets and

external liabilities were ₹2,00,000 and ₹6,000

respectively. During the year, the proprietor had

introduced capital of ₹20,000 and withdrawn

₹12,000 for personal use. He made a·profit of

₹20,000 during the year. Calculate the capital as

on 1st April, 2018.

View Text Solution

27. Shown an Accounting Equation on the basis

of the following transacitons 

https://dl.doubtnut.com/l/_SYERMdks4wam
https://dl.doubtnut.com/l/_qv3nN1e9RfU1


View Text Solution

28. What will be effect of the following on the

Accounting Equation ? 

Started business with cash â‚¹45,000 (ii) Opened

a Bank form M/s. Sum & Co, for â‚¹11,200.

View Text Solution

https://dl.doubtnut.com/l/_qv3nN1e9RfU1
https://dl.doubtnut.com/l/_JZAnUVpwfqKc


29. Show the Accounting Equation for the

following transactions: 

View Text Solution

30. Show the effect of the following

transactions on the Accounting Equation: 

(i) Statred business with cash â‚¹50,000. 

(ii) Salaries paid â‚¹2,000. 

(iii)Wages outstanding â‚¹200. 

https://dl.doubtnut.com/l/_qpe9oHxZVfrT
https://dl.doubtnut.com/l/_IH58MVKn22p2


(iv) Interest due but not paid â‚¹100. 

(v) Rent paid in advance â‚¹150.

View Text Solution

31. What will be the effect of the following on

the Accounting Equation ? 

(i) Harish started business with cash â‚¹ 18,000 

(ii) Purchased goods for cash â‚¹ 5, 000 and on

credit â‚¹ 2,000 

(iii) Sold goods for cash â‚¹ 4,000 (costing â‚¹

2,400) 

https://dl.doubtnut.com/l/_IH58MVKn22p2
https://dl.doubtnut.com/l/_iwc5FII3ao4h


(iv) Rent paid â‚¹ 1,000 and rent outstanding â‚¹

200

View Text Solution

32. Perpare Accounting Equation from the

following : 

(i) Started business with cash â‚¹1,00,000 and

Goods â‚¹20,000. 

(ii) Sold goods worht â‚¹10,000 for cash â‚¹12,000

(iii) Purchased furniture on credit for â‚¹ 30,000.

View Text Solution

https://dl.doubtnut.com/l/_iwc5FII3ao4h
https://dl.doubtnut.com/l/_VcOqs7qAiFS6


33. Prepare an According Equation and Blance

sheet of the following basise: 

(i) Ajeet started business with cash â‚¹20,000. 

(ii) He Purchased furniture for â‚¹2,000. 

(iii) He pid rent of â‚¹ 200. 

(iv) He purchased goods on credit â‚¹3,000. 

(v) He sold goods (cost price â‚¹2,000) for

â‚¹5,000 on cah.

View Text Solution

https://dl.doubtnut.com/l/_OM90imdjF7wG


34. Prepare an Accounting Equation from the

following: 

Started business with cash â‚¹1,00,000. 

(ii) Purchased goods for cash 20,000 and on

credit ? â‚¹30,000. 

(iii) Sold goods for cash costing 10,000 and on

credit costingt â‚¹15,000 both at a of 20%.

View Text Solution

35. Develop an Accounting Equation from the

following transactions : 

https://dl.doubtnut.com/l/_34YTFSbjO9JF
https://dl.doubtnut.com/l/_ygVqfjx7LWAa


View Text Solution

36. Perpare an Accounting Equation on the

following transactions : 

(i) Started business with cash â‚¹ 70,000. 

(ii) Credit purchase of goods â‚¹ 18,000. 

(iii) Payment made to crediors in full settlement

â‚¹17,500. 

https://dl.doubtnut.com/l/_ygVqfjx7LWAa
https://dl.doubtnut.com/l/_wOIm5ZLqQBO2


(iv) Purchase of machinery for cash â‚¹ 20,000. 

(v) Depreciation on machinery â‚¹ 2,000.

View Text Solution

37. Prove that the Accounting Equation is

satisfied in all the following transactions of

Suresh. 

Also prepare a Balance sheet. 

(i) Commenced business with cash â‚¹60,000. 

(ii) Paid rent in advance â‚¹500. 

(iii) Pruchased goods for cash â‚¹20,000. 

(iv) Sold goods for cash â‚¹30,000 costing

https://dl.doubtnut.com/l/_wOIm5ZLqQBO2
https://dl.doubtnut.com/l/_PvDD9eYv6LOV


â‚¹20,000. 

(v) Paid salary â‚¹500 and salary outstanding

being â‚¹100. 

(vi) Bought motorcycle for personal use â‚¹5,000.

View Text Solution

38. Show the effect of the following transactions

and also prepare a Blacance Sheet : 

(i) Started business with â‚¹60,000. 

(ii) Rent recevied â‚¹2,000. 

(iii) Accrued interest â‚¹500. 

https://dl.doubtnut.com/l/_PvDD9eYv6LOV
https://dl.doubtnut.com/l/_ZY6qT6PFtREb


(iv) Commission received in advance â‚¹ 1,000. 

(v) Amount withdrawn â‚¹5,000.

View Text Solution

39. Prove that the Accounting Equation is

satified in all the following transactions of

Sameer Goel : 

(i) Started business with cash â‚¹1,000. 

(ii) Paid rent in advance â‚¹300. 

(iii) Purchased goods for cash â‚¹5,000 and

credit â‚¹2000. 

(iv) Sold goods for cash â‚¹8,000 costing â‚¹4000.

https://dl.doubtnut.com/l/_ZY6qT6PFtREb
https://dl.doubtnut.com/l/_44ZTAWL1fxqu


(v) Paid salary â‚¹450 and salary outstanding

being â‚¹ 100. 

(vi) Bought motorcycle for personal use â‚¹3000.

View Text Solution

40. Raghunath had the following taransacitons

in an accounting year : 

(i) Commenced business with cash â‚¹ 50,000. 

(ii) Paid into bank â‚¹10,000. 

(iii) Purcahsed goods for cash â‚¹20,000 and

credit â‚¹30,000. 

(iv) Sold goods for cash â‚¹40,000 costing

https://dl.doubtnut.com/l/_44ZTAWL1fxqu
https://dl.doubtnut.com/l/_ObRD84J1xTgQ


â‚¹30,000. 

(v) Rent paid â‚¹500. 

(vi) Rent outstanding â‚¹100. 

(vii) Bought furniture â‚¹5,000 on credit. 

(viii) Bought refrigerator for personal use

â‚¹5,000. 

(ix) Purchased motorcycle for cash â‚¹20,000. 

Create an Accounting Equation to show the

effect of the above and also shown his Balcnce

Sheet.

View Text Solution

https://dl.doubtnut.com/l/_ObRD84J1xTgQ


41. Prepare an Accounting Equation from the

following : 

(i) Started business with cash â‚¹50,000 and

goods â‚¹30,000. 

(ii)Purchased good cash â‚¹30,000 and on credit

from Karan â‚¹20,000. 

(iii) Goods costing â‚¹40,000 were sold for

â‚¹55,000. ltBRgt (IV) Withdrew cash for presonal

use â‚¹10,000 

(v) Rent outstading â‚¹2,000.

View Text Solution

https://dl.doubtnut.com/l/_6dLIXctOWUB3
https://dl.doubtnut.com/l/_eQnUx05pqnO8


42. Show an Accounting Equation for the

following transactions: 

D. Mahaptra commeced business with cash

â‚¹50,000 and â‚¹1,00,000 by cheque, goods â‚¹

60,000, machinery â‚¹ 1,00,000 and furniture â‚¹

50,000. 

(ii) 1/3 rd of the above goods sold at a profit of

10% on cost and half of the payment is received

in cash. 

(iii) Depreciation on machinery provided @ 10%.

(iv) Cash withdrawan for personal use â‚¹ 10,000.

(v) Interest on drawings charged @ 5%. 

https://dl.doubtnut.com/l/_eQnUx05pqnO8


(vi) Goods sold to Gupta for â‚¹ 10,000 and

received a Bill Receivable for the same amount

for 3 months. 

(vii) Received â‚¹ 10,000 from Gupta against the

Bills Receivable on its maturity.

View Text Solution

43. Prepare Accounting Equation from the

following " 

(a) Started business with cash â‚¹1,00,000. ltbgt

rgt (b) Purchased goods for cash â‚¹20,000 and

on credit â‚¹30,000. 

https://dl.doubtnut.com/l/_eQnUx05pqnO8
https://dl.doubtnut.com/l/_a7dYJlffUvaj


(c) Sold goods for cash â‚¹10,000 and on credit

costing â‚¹15,000 both at the profit of 20%. 

(d) Paid salaries â‚¹8,000.

View Text Solution

44. Shown the accounting equation on the

followimg transacitions : 

(a) Ram started business with â‚¹25,000. 

(b) Purchases goods from Shyam â‚¹10,000. 

(c) Sold goods to Sohan costing â‚¹1,500 for

â‚¹1,800.

View Text Solution

https://dl.doubtnut.com/l/_a7dYJlffUvaj
https://dl.doubtnut.com/l/_sQkCSxskJo80


View Text Solution

45. If the capital of a business is â‚¹3,00,000 and

liabilites are â‚¹50,000 loss â‚¹70,000 calculate

the total assets of the business.

View Text Solution

46. If the total assets of a business are

â‚¹1,30,000 and net worth is â‚¹80,000, calculate

the creditors. 

[Hint : New Worth = Assests - Liabilities.]

Vi T S l i

https://dl.doubtnut.com/l/_sQkCSxskJo80
https://dl.doubtnut.com/l/_eUzkXLpZyZyp
https://dl.doubtnut.com/l/_is2AVw9ABa4X


View Text Solution

47. A commenced his cloth business on 1st April

, 2018 with a capital of â‚¹30,000. On 31st March

2019, his assets were worth â‚¹50,000 and

liabilites of â‚¹10,000. find out his closing capital

and profits eraned during the year.

View Text Solution

48. If capital of a business is â‚¹1,40,000 and

liabilities are of â‚¹80,000, calcluate the total

https://dl.doubtnut.com/l/_is2AVw9ABa4X
https://dl.doubtnut.com/l/_TFXvuQzByry7
https://dl.doubtnut.com/l/_c2Sq2Tc9Q9xV


assets of the business.

View Text Solution

49. Calculate the total assets if : 

(i) Capital is â‚¹400. 

(ii) Creditors are â‚¹25,000. 

(iii) Revenue during the period â‚¹50,000. ltbr.

(iv) Expenses during the period are â‚¹40,000.

View Text Solution

https://dl.doubtnut.com/l/_c2Sq2Tc9Q9xV
https://dl.doubtnut.com/l/_iIXjdvzATXcP


50. (a) A had a capital of â‚¹ 75,000 on 1st April ,

2018. He had also goods amounting to â‚¹ 15,000

which he had purchased on credit and the

payment had not been made. Find out the value

to the total assets of the business. 

(b) After a period of one month, he came to

know that the he had suffered a loss â‚¹ 1,700.

He withdrew â‚¹ 800 for his personal use . Find

out this capital and assets of the business.

View Text Solution

https://dl.doubtnut.com/l/_jSBJekr4gPZf


51. (a) Mohan started a business on 1st Aprili

2018 with a capital of â‚¹10,000 and borrowed â‚¹

3,000 from a friend. He earned a profit of

â‚¹5,000 during the year ended 31st March, 2019

and withdrew cash â‚¹4,000 for personal use.

What is his capital on 31st March, 2019? 

Mahesh started a'business with a capital of

â‚¹15,000 on 1st April, 2018. During the year, he

made a profit of â‚¹3,000. He owes â‚¹2,500 to

suppliers of goods. What is the total of assets in

his business on 31st March, 2019

View Text Solution

https://dl.doubtnut.com/l/_tIL46Bz86IKn


52. Mohan started a business on 1st April, 2018

with a capital of â‚¹25,000 and a loan of â‚¹12,500

borrowed from Shyam. During 2018-19 he had

introduced additional capital of â‚¹12,500 and

had withdrawn â‚¹7,500 for personal use. On 31st

March, 2019 his assets were â‚¹75,000. Find out

his capital as on 31st March, 2019 and'profit

made or loss incurred dring the year 2018-19.

View Text Solution

https://dl.doubtnut.com/l/_tIL46Bz86IKn
https://dl.doubtnut.com/l/_NTnYBdZFgMot


53. On 31st March, 2019, the total assets and

external liabilities were â‚¹2,00,000 and â‚¹6,000

respectively. During the year, the proprietor had

introduced capital of â‚¹20,000 and withdrawn

â‚¹12,000 for personal use. He made aÂ·profit of

â‚¹20,000 during the year. Calculate the capital

as on 1st April, 2018.

View Text Solution

54. Shown an Accounting Equation on the basis

of the following transacitons 

https://dl.doubtnut.com/l/_sZeCMHln4s7l
https://dl.doubtnut.com/l/_D2IfMc7tjc2d


Evaluation Questions

View Text Solution

1. Complete the following Accounting Equation

by filling the missing amounts: 

View Text Solution

https://dl.doubtnut.com/l/_D2IfMc7tjc2d
https://dl.doubtnut.com/l/_bhYjwthERg1t


2. Complete the following Accounting Equation

by filling the missing amount 

View Text Solution

3. Complete the following Accounting Equation

by filling the missing amounts: 

View Text Solution

https://dl.doubtnut.com/l/_bhYjwthERg1t
https://dl.doubtnut.com/l/_R2htv5oDBney
https://dl.doubtnut.com/l/_LdQ3EMLrcpgP


4. Complete the following Accounting Equation

by filling the missing amounts: 

View Text Solution

5. Complete the following Accounting Equation

by filling the missing amount 

https://dl.doubtnut.com/l/_fbpcQ2oMSlP0
https://dl.doubtnut.com/l/_6KqkVagAufxz


View Text Solution

6. Complete the following Accounting Equation

by filling the missing amounts: 

https://dl.doubtnut.com/l/_6KqkVagAufxz
https://dl.doubtnut.com/l/_kTR2CWcewt1X


View Text Solution

https://dl.doubtnut.com/l/_kTR2CWcewt1X

